This report contains the transfers results.

Valid Votes
Positions to be Filled
Quota

Ward 8 - Girvan and South Carrick

4,056

3

1,015

Stage 1

Candidate Name	Affiliation	No. of Ballot Papers
Alec CLARK	Independent	1,277
Aaron GILPIN	Scottish Labour Party	358
Peter HENDERSON	Scottish National Party (SNP)	1,008
Linda KANE	Scottish Conservative and Unionist	563
Todor Joseph RADIC	Independent	230
Gavin SCOTT	Scottish Conservative and Unionist	573
Eileen SPENCE	Alba Party for independence	47
·	Total	4,056

Candidate Alec CLARK Elected with 1,277 votes, being in excess of the quota of 1,015

This report contains the transfers results.

Stage 2 - Surplus of Alec CLARK

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Aaron GILPIN	198	0.20516	40.62168
Transfer to Peter HENDERSON	308	0.20516	63.18928
Transfer to Linda KANE	138	0.20516	28.31208
Transfer to Todor Joseph RADIC	274	0.20516	56.21384
Transfer to Gavin SCOTT	133	0.20516	27.28628
Transfer to Eileen SPENCE	22	0.20516	4.51352
No further preference	204	0.20516	41.85264
Not transferred due to rounding			0.01068
	Total		262.00000

This report contains the transfers results.

Stage 3 - Surplus of Peter HENDERSON

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Aaron GILPIN	218	0.05245	11.43410
Transfer to Linda KANE	23	0.05245	1.20635
Transfer to Todor Joseph RADIC	189	0.05245	9.91305
Transfer to Gavin SCOTT	23	0.05245	1.20635
Transfer to Eileen SPENCE	181	0.05245	9.49345
Transfer to Aaron GILPIN	71	0.01076	0.76396
Transfer to Linda KANE	17	0.01076	0.18292
Transfer to Todor Joseph RADIC	77	0.01076	0.82852
Transfer to Gavin SCOTT	21	0.01076	0.22596
Transfer to Eileen SPENCE	34	0.01076	0.36584
No further preference	374	0.05245	19.61630
No further preference	88	0.01076	0.94688
Not transferred due to rounding			0.00560
	Total		56.18928

This report contains the transfers results.

Stage 4 - Exclusion of Eileen SPENCE

3			
Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Aaron GILPIN	9	1.00000	9.00000
Transfer to Linda KANE	2	1.00000	2.00000
Transfer to Todor Joseph RADIC	21	1.00000	21.00000
Transfer to Gavin SCOTT	5	1.00000	5.00000
Transfer to Aaron GILPIN	9	0.20516	1.84644
Transfer to Linda KANE	1	0.20516	0.20516
Transfer to Todor Joseph RADIC	3	0.20516	0.61548
Transfer to Gavin SCOTT	2	0.20516	0.41032
Transfer to Aaron GILPIN	31	0.05245	1.62595
Transfer to Linda KANE	1	0.05245	0.05245
Transfer to Todor Joseph RADIC	54	0.05245	2.83230
Transfer to Gavin SCOTT	2	0.05245	0.10490
Transfer to Aaron GILPIN	4	0.01076	0.04304
Transfer to Todor Joseph RADIC	2	0.01076	0.02152
No further preference	10	1.00000	10.00000
No further preference	7	0.20516	1.43612
No further preference	93	0.05245	4.87785
No further preference	28	0.01076	0.30128
Not transferred due to rounding			0.00000
	Total		61.37281

This report contains the transfers results.

Stage 5 - Exclusion of Todor Joseph RADIC

orago o Exoración or roadi docopii in is	. •		02 11 12 17 1
Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Aaron GILPIN	66	1.00000	66.00000
Transfer to Linda KANE	20	1.00000	20.00000
Transfer to Gavin SCOTT	63	1.00000	63.00000
Transfer to Aaron GILPIN	69	0.20516	14.15604
Transfer to Linda KANE	25	0.20516	5.12900
Transfer to Gavin SCOTT	69	0.20516	14.15604
Transfer to Aaron GILPIN	88	0.05245	4.61560
Transfer to Linda KANE	1	0.05245	0.05245
Transfer to Gavin SCOTT	7	0.05245	0.36715
Transfer to Aaron GILPIN	14	0.01076	0.15064
Transfer to Linda KANE	1	0.01076	0.01076
Transfer to Gavin SCOTT	5	0.01076	0.05380
No further preference	102	1.00000	102.00000
No further preference	114	0.20516	23.38824
No further preference	147	0.05245	7.71015
No further preference	59	0.01076	0.63484
Not transferred due to rounding			0.00000
	Total		321.42471

This report contains the transfers results.

Stage 6 - Exclusion of Aaron GILPIN

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Linda KANE	100	1.00000	100.00000
Transfer to Gavin SCOTT	61	1.00000	61.00000
Transfer to Linda KANE	49	0.20516	10.05284
Transfer to Gavin SCOTT	27	0.20516	5.53932
Transfer to Linda KANE	84	0.05245	4.40580
Transfer to Gavin SCOTT	46	0.05245	2.41270
Transfer to Linda KANE	12	0.01076	0.12912
Transfer to Gavin SCOTT	10	0.01076	0.10760
No further preference	272	1.00000	272.00000
No further preference	200	0.20516	41.03200
No further preference	207	0.05245	10.85715
No further preference	67	0.01076	0.72092
Not transferred due to rounding			0.00000
	Total		508.25745

This report contains the transfers results.

Stage 7 - Exclusion of Linda KANE

Action	No. of Ballot Papers	Transfer Value	Votes Transferred
Transfer to Gavin SCOTT	585	1.00000	585.00000
Transfer to Gavin SCOTT	136	0.20516	27.90176
Transfer to Gavin SCOTT	90	0.05245	4.72050
Transfer to Gavin SCOTT	18	0.01076	0.19368
No further preference	100	1.00000	100.00000
No further preference	77	0.20516	15.79732
No further preference	19	0.05245	0.99655
No further preference	12	0.01076	0.12912
Not transferred due to rounding			0.00000
	Total		734.73893